# **Return of Private Foundation**

or Section 4947(a)(1) Trust Treated as Private Foundation

OMB No. 1545-0052

DLN: 93491069007591

2019

Form 990-PF Department of the Treasury Internal Revenue Service

▶ Do not enter social security numbers on this form as it may be made public.

▶ Go to <u>www.irs.gov/Form990PF</u> for instructions and the latest information.

Open to Public Inspection

or	cale	ndar year 2019, or tax year beginning 07-01-20	)19 , aı	nd en	nding 06-30-	2020	
		ındation ngs Foundation			A Employer id	entification numbe	er
111	е паѕи	igs roundation			95-1642370		
		I street (or P.O. box number if mail is not delivered to street address)	Room/suite		R Telephone nu	mber (see instructio	ne\
9:	924 So Oakland Ave						113)
City	or towr	, state or province, country, and ZIP or foreign postal code			(626) 440-1820		
Pasa	dena, C	91106			C If exemption	application is pendin	ig, check here
i Ch	neck al	l that apply: 🔲 Initial return 🔲 Initial return of a	former public charity		<b>D 1.</b> Foreign or	ganizations, check h	ere
		Final return Amended return				ganizations meeting	
		Address change Name change			test, chec	k here and attach co	mputation 🕨 🔲
I Ch	neck ty	pe of organization: Section 501(c)(3) exempt private	foundation			indation status was n 507(b)(1)(A), chec	
	Section	1 4947(a)(1) nonexempt charitable trust	e private foundation				
			☐ Cash ☑ Accru	ıal		ntion is in a 60-mont	
		rom Part II, col. (c), ▶\$ 9,585,072 ☐ Other (specify)			under sectio	n 507(b)(1)(B), ched	ck here 🕨 🗀
	/	(Part I, column (d) must	be on cash basis.)				
Pa	rt I	Analysis of Revenue and Expenses (The total	(a) Revenue and				(d) Disbursements
		of amounts in columns (b), (c), and (d) may not necessarily	expenses per books	(ь)	Net investment income	(c) Adjusted net income	for charitable purposes
	ı	equal the amounts in column (a) (see instructions).)	DOOKS				(cash basis only)
	1	Contributions, gifts, grants, etc., received (attach schedule)	1,242,193	3			
	2	Check ▶ ☐ if the foundation is <b>not</b> required to attach					
	-	Sch. B					
	3	Interest on savings and temporary cash investments	25,614	<u> </u>	25,614		
	4	Dividends and interest from securities	196,879		196,879		
	5a	Gross rents					
a)	b	Net rental income or (loss)					
Ĕ	6a	Net gain or (loss) from sale of assets not on line 10	24,109	1			
Revenue	b	Gross sales price for all assets on line 6a 14,293,138			24.400		
ã	7	Capital gain net income (from Part IV, line 2)			24,109		
	8	Net short-term capital gain					
	10a	Gross sales less returns and allowances					
	ь	Less: Cost of goods sold	<u> </u>				
	c	Gross profit or (loss) (attach schedule)	<u>.                                    </u>				
	11	Other income (attach schedule)					
	12	Total. Add lines 1 through 11	1,488,795	;	246,602		
	13	Compensation of officers, directors, trustees, etc.	28,000		4,200		23,800
	14	Other employee salaries and wages	,		,		,
Ņ	15	Pension plans, employee benefits					
156	16a	Legal fees (attach schedule)	18,224				18,224
Expenses	ь	Accounting fees (attach schedule)	16,840		8,420		8,420
	С	Other professional fees (attach schedule)	89,285	;	85,885		3,400
and Administrative	17	Interest					
2	18	Taxes (attach schedule) (see instructions)	<b>%</b> 8,295	;	1,635		160
Ê	19	Depreciation (attach schedule) and depletion					
	20	Occupancy					
Ĭ	21	Travel, conferences, and meetings					
	22	Printing and publications					
	23	Other expenses (attach schedule)	19,104		2,147		16,957
Operating	24	Total operating and administrative expenses.					
<u>D</u>		Add lines 13 through 23	179,748	3	102,287		70,961
)	25	Contributions, gifts, grants paid	1,658,179				1,658,179
	26	Total expenses and disbursements. Add lines 24 and					
	27	25	1,837,927	<u>'</u>	102,287		1,729,140
	27	Subtract line 26 from line 12:  Excess of revenue over expenses and					
	a	disbursements	-349,132	2			
	ь	Net investment income (if negative, enter -0-)			144,315		
	С	Adjusted net income (if negative, enter -0-)					
~~	D	would Dadwation Act Notice and instructions				, –	000 DE (0010)

35,821

9,773,578

9,773,578

9,773,578

9,585,072

9,585,072

1

2

3

4

5

6

9,773,578

-349,132

160,626

9,585,072

9,585,072 Form **990-PF** (2019)

426,054

Page 2

426,054

Form 990-PF (2019)

Savings and temporary cash investments

Other liabilities (describe >\_

and complete lines 24, 25, 29 and 30. Net assets without donor restrictions . . .

Net assets with donor restrictions .

and complete lines 26 through 30.

of-year figure reported on prior year's return)

Other increases not included in line 2 (itemize)

Enter amount from Part I, line 27a

Add lines 1, 2, and 3 . . . . . .

Decreases not included in line 2 (itemize) ▶

Total liabilities(add lines 17 through 22) . . . . .

Foundations that follow FASB ASC 958, check here ▶

Capital stock, trust principal, or current funds . . . . . .

Paid-in or capital surplus, or land, bldg., and equipment fund

Foundations that do not follow FASB ASC 958, check here 🕨 🗔

Retained earnings, accumulated income, endowment, or other funds

Total net assets or fund balances (see instructions) . . . . .

Total liabilities and net assets/fund balances (see instructions) .

Analysis of Changes in Net Assets or Fund Balances

Total net assets or fund balances at beginning of year—Part II, column (a), line 29 (must agree with end-

Total net assets or fund balances at end of year (line 4 minus line 5)—Part II, column (b), line 29

22 23

24

25

26

27

28

29

30

Part III

2

3

4

5

Net Assets or Fund Balances

2

	3	Accounts receivable						
		Less: allowance for doubtful accounts ▶						
	4	Pledges receivable ▶						
		Less: allowance for doubtful accounts ▶						
	5	Grants receivable						
	6	Receivables due from officers, directors, trustees, and other						
		disqualified persons (attach schedule) (see instructions)						
	7	Other notes and loans receivable (attach schedule)						
		Less: allowance for doubtful accounts ▶						
Ş	8	Inventories for sale or use						
Assets	9	Prepaid expenses and deferred charges				4,000		4,000
As	10a	Investments—U.S. and state government obligations (attach schedule)						
	ь	Investments—corporate stock (attach schedule)		5,263,787	<b>چ</b> ا	6,009,515		6,009,515
	С	Investments—corporate bonds (attach schedule)		4,363,252	<b>چ</b> ا	2,613,274		2,613,274
	11	Investments—land, buildings, and equipment: basis ▶						
		Less: accumulated depreciation (attach schedule) ▶						
	12	Investments—mortgage loans						
	13	Investments—other (attach schedule)		105,718	<b>چ</b>	527,229		527,229
	14	Land, buildings, and equipment: basis ▶						
		Less: accumulated depreciation (attach schedule) ▶						
	15	Other assets (describe >)	<b>%</b> J	5,000	<b>چ</b> ا	5,000	<b>%</b> J	5,000
	16	Total assets (to be completed by all filers—see the						
		instructions. Also, see page 1, item I)		9,773,578		9,585,072		9,585,072
	17	Accounts payable and accrued expenses						
	18	Grants payable						
ies	19	Deferred revenue						
iabilities	20	Loans from officers, directors, trustees, and other disqualified persons						
iat	21	Mortgages and other notes payable (attach schedule)						

Page **3** 

(a) List and describe the kind(s) of property sold (e.g., real estate, 2-story brick warehouse; or common stock, 200 shs. MLC Co.)				(c) Date acquired (mo., day, yr.)	(d) Date sold (mo., day, yr.)
1 a Publicly Traded Securities	5		Р	2019-01-01	2020-01-01
<b>b</b> Wash Sale Adjustment			Р	2019-01-01	2020-01-01
c					
d					
e					
(e) Gross sales price	<b>(f)</b> Depreciation allowed (or allowable)	Cost or	(g) other basis ense of sale	Gain ò	h <b>)</b> r (loss) ) minus (g)
a 14,28	7,429		14,269,029	9	18,400
b	5,709				5,709
c					
d					
e					
Complete only for assets	showing gain in column (h) and ow	ned by the foundation (	on 12/31/69	(	I)
(i) F.M.V. as of 12/31/69	(j) Adjusted basis as of 12/31/69	Excess	<b>(k)</b> of col. (i) . (j), if any	Gains (Col. ( col. (k), but not	h) gain minus less than -0-) <b>or</b> om col.(h))
a			7		18,400
b					5,709
c					
d					
e					
	or (net capital loss)  gain or (loss) as defined in sections 1 rt I, line 8, column (c) (see instructions 1	ons). If (loss), enter -0	Part I, line 7	3	24,109 24,109
<u> </u>	Inder Section 4940(e) for Rerivate foundations subject to the sec				
f section 4940(d)(2) applies, le	eave this part blank.				
f "Yes," the foundation does no	e section 4942 tax on the distributal of qualify under section 4940(e). Do	not complete this part.			es 🔽 No
	nount in each column for each year;	see instructions before	making any entrie		
(a) Base period years Calendar year (or tax year beginning in)	(b) Adjusted qualifying distributions	(c) Net value of noncharitable		<b>(d)</b> Distribution rati (col. (b) divided by c	ol. (c))
2018	2,239,190		9,850,768		0.22731
2017	1,509,914		10,809,298		0.13969
2016	1,256,666		9,505,594		0.13220
2015	2,637,674		9,522,623		0.27699
2014	1,851,023		11,175,225	1	0.16564
2 Total of line 1, column (	•		2		0.941827
number of years the four	ofor the 5-year base period—divide to Idation has been in existence if less Incharitable-use assets for 2019 from	than 5 years 🔒			0.188365 9,646,122
<b>5</b> Multiply line 4 by line 3			5		1,816,992
6 Enter 1% of net investme	ent income (1% of Part I, line 27b)		6		1,443
<b>7</b> Add lines 5 and 6			7		1,818,435
	ons from Part XII, line 4 ,				1,729,140
If line 8 is equal to or gre instructions.	eater than line 7, check the box in Pa	art VI, line 1b, and com	plete that part usi	ng a 1% tax rate. Se	e the Part VI

Page **6** 

Ба	During the year did the foundation p	ay or incur any amount to:					Yes	No
	(1) Carry on propaganda, or otherwise attempt to influence legislation (section 4945(e))?							
	(2) Influence the outcome of any specific public election (see section 4955); or to carry							
	on, directly or indirectly, any voter registration drive? Yes Volume No							
	(3) Provide a grant to an individual for travel, study, or other similar purposes?  (4) Provide a grant to an organization other than a charitable, etc., organization described							
	• •		· -					
	in section 4945(d)(4)(A)? See instructions							
educational purposes, or for the prevention of cruelty to children or animals? Yes V No								
b	If any answer is "Yes" to $5a(1)-(5)$ ,							
Regulations section 53.4945 or in a current notice regarding disaster assistance? See instructions								
Organizations relying on a current notice regarding disaster assistance check here								
С	tax because it maintained expenditu	` ''	•					
	If "Yes," attach the statement requir	· · · · · · · · · · · · · · · · · · ·		· · L Yes	L N₁	0		
5a	Did the foundation, during the year,	· -		ime on				
Ju	a personal benefit contract?			. —				
b	Did the foundation, during the year,			res	_ <b>✓</b> №	0   6b		No
	If "Yes" to 6b, file Form 8870.	, , ,	,, ,					
7a	At any time during the tax year, was	the foundation a party to a p	prohibited tax shelter trai	nsaction?	✓ N	_		
b	If "Yes", did the foundation receive a	any proceeds or have any net	income attributable to the	ne transaction?	· N	7b		
3	Is the foundation subject to the sect	ion 4960 tax on payment(s) o	of more than \$1,000,000	in remuneration or				
	excess parachute payment during th	e year?		· · 🔲 Yes	<b>✓</b> №	ا		
	Information About C	officers, Directors, Trust	tees, Foundation Ma				,	
Pal	and Contractors							
1	List all officers, directors, trustee	s, foundation managers ar	nd their compensation	See instructions				
	(-) Name and address	(b) Title, and average	(c) Compensation (If	(d) Contributions t		e) Exper	nse acc	ount,
	(a) Name and address	hours per week devoted to position	not paid, enter -0-)	employee benefit plans deferred compensati		other a	llowane	ces
ee /	Additional Data Table		,	'				
2	Compensation of five highest-pai	d employees (other than t	hose included on line 1	<del></del>		enter "	NONE	."
'a \	Name and address of each employee	(b) Title, and average		(d) Contributions t employee benefit		e) Expen	50 3000	ount
,	more than \$50,000	hours per week devoted to position	(c) Compensation	plans and deferred		other al		
		devoted to position		compensation				
ON	<u> </u>							
ota	I number of other employees paid over	 er \$50,000 <b></b>						
		, -,				orm <b>99</b>	0-PF	(2019
								,

Form 990-PF (2019)		Page <b>7</b>
Part VIII Information About Officers, Directors, Trus and Contractors (continued)	stees, Foundation Managers, Highly Paid E	imployees,
3 Five highest-paid independent contractors for professiona	l services (see instructions). If none, enter "NO	NE".
(a) Name and address of each person paid more than \$50,000	(b) Type of service	(c) Compensation
First Republic Investment Management	Invt Mgt & Other Fee	87,432
111 Pine Street San Francisco, CA 94111		
Total number of others receiving over \$50,000 for professional service	es	
Part IX-A Summary of Direct Charitable Activities		
List the foundation's four largest direct charitable activities during the tax year. Incorganizations and other beneficiaries served, conferences convened, research papers		Expenses
1	ers produced, etc.	
2		
-		
-		
3		
4		
Part IX-B Summary of Program-Related Investments	s (see instructions)	
Describe the two largest program-related investments made by the foundation		Amount
1	,	
2		
All other program-related investments. See instructions.		
3		
Total. Add lines 1 through 3	<u> </u>	
		Form <b>990-PF</b> (2019)

4 4

Note: The amount on line 6 will be used in Part V, column (b), in subsequent years when calculating whether the foundation qualifies for

5

6

7

1a

1b

2

За 3h

4

5

479,420

479.420

1,729,140

1,729,140

1,729,140

Form **990-PF** (2019)

Distributable amount as adjusted. Subtract line 6 from line 5. Enter here and on Part XIII, line 1. . .

Expenses, contributions, gifts, etc.—total from Part I, column (d), line 26. . . . . . . . . . . .

Qualifying distributions. Add lines 1a through 3b. Enter here and on Part V, line 8, and Part XIII, line 4

income. Enter 1% of Part I, line 27b. See instructions.

Amounts paid (including administrative expenses) to accomplish charitable, etc., purposes:

Amounts paid to acquire assets used (or held for use) directly in carrying out charitable, etc.,

Foundations that qualify under section 4940(e) for the reduced rate of tax on net investment

Qualifying Distributions (see instructions)

Amounts set aside for specific charitable projects that satisfy the:

the section 4940(e) reduction of tax in those years.

5

6

1

2

3

4

5

b

Part XII

10 Analysis of line 9:

a Excess from 2015. . . .
 b Excess from 2016. . . .
 c Excess from 2017. . . .
 d Excess from 2018. . . .
 e Excess from 2019. . . .

Part XIII Undistributed Income (see instructions)						
			(a) Corpus	(b) Years prior to 2018	(c) 2018	<b>(d)</b> 2019
1	Distributabl	le amount for 2019 from Part XI, line 7				479,420
2	Undistribute	ed income, if any, as of the end of 2019:				
а	Enter amou	unt for 2018 only.			415,986	
b		ior years: 20 , 20 , 20				-
3		ributions carryover, if any, to 2019:				
а						
b	From 2015					
С	From 2016					
d	From 2017					
е	From 2018					
f	Total of line	es 3a through e				
4	Qualifying d	istributions for 2019 from Part				
	XII, line 4:	<b>▶</b> \$1,729,140				
а	Applied to 2	2018, but not more than line 2a			415,986	
b	Applied to u	undistributed income of prior years				
		quired—see instructions)				
С		distributions out of corpus (Election	1,242,193			
		ee instructions)				
		2019 distributable amount				70,961
е	Remaining	amount distributed out of corpus				
5	Excess dist	ributions carryover applied to 2019.				
		ant appears in column (d), the amount must be shown in column (a).)				
6	Enter the i	net total of each column as I below:				
а	Corpus. Add	l lines 3f, 4c, and 4e. Subtract line 5	1,242,193			
b		undistributed income. Subtract				
С	income for been issued	mount of prior years' undistributed which a notice of deficiency has d, or on which the section 4942(a) en previously assessed				
d		e 6c from line 6b. Taxable amount				
	—see instru	ctions				
е	4a from line	ed income for 2018. Subtract line 2a. Taxable amount—see				
f	Undistribute	d income for 2019. Subtract				
		ed in 2020				408,459
7		eated as distributions out of				
		atisfy requirements imposed by				
		(b)(1)(F) or 4942(g)(3) (Election may	4 242 402			
_	•	- see instructions)	1,242,193			
	applied on li	ributions carryover from 2014 not ine 5 or line 7 (see instructions)				
9	Subtract line	tributions carryover to 2020. es 7 and 8 from line 6a				
		1: 0				

Page **9** 

- - **b** The form in which applications should be submitted and information and materials they should include:
  - c Any submission deadlines:
- d Any restrictions or limitations on awards, such as by geographical areas, charitable fields, kinds of institutions, or other factors:

_	s amounts unless otherwise indicated.	Unrelated by	usiness income	Excluded by section	512, 513, or 514	(e)
1 Progra	m service revenue:	(a) Business code	(b) Amount	(c) Exclusion code	(d) Amount	Related or exempt function income (See instructions.)
_	in service revenue.	business code	Amount	Exclusion code	Amount	,
b						
-	and contracts from government agencies					
	ership dues and assessments					
Intere invest	st on savings and temporary cash ments					
	nds and interest from securities			14	25,614 196,879	
	ntal income or (loss) from real estate:			1	150,075	
a Debt	-financed property					
	debt-financed property.					
	ntal income or (loss) from personal property investment income.					
	r (loss) from sales of assets other than					
invent	•			18	24,109	
	come or (loss) from special events:					
	profit or (loss) from sales of inventory					
	revenue: a					
	tal. Add columns (b), (d), and (e).				246,602	
	Add line 12, columns (b), (d), and (e) vorksheet in line 13 instructions to verify calcu			13	3	246,602
Part XV			nment of Exem	pt Purposes		
ine No. ▼	Explain below how each activity for which the accomplishment of the foundation's exinstructions.)					
	,					

Foi	m 990-P	F (2019)				Pa	ge <b>13</b>
	art XV	Information Re Exempt Organi		ions and Relationships With Nonchari	table		
1			directly engage in any of the following with a organizations) or in section 527, relating to	any other organization described in section 501 political organizations?		Yes	No
а	Transfe	rs from the reporting foun	dation to a noncharitable exempt organization	on of:			
		·			1a(1)		No
					1a(2)		No
b		ansactions:					
	<b>(1)</b> Sa	les of assets to a nonchari	itable exempt organization		1b(1)		No
					1b(2)		No
					1b(3)		No
			ts		1b(4)		No
	<b>(5)</b> Lo	ans or loan guarantees.			1b(5)		No
	<b>(6)</b> Per	formance of services or m	embership or fundraising solicitations		1b(6)		No
c	Sharing	of facilities, equipment, n	nailing lists, other assets, or paid employees		1c		No
d	of the g	oods, other assets, or ser	vices given by the reporting foundation. If th	Column (b) should always show the fair market one foundation received less than fair market values he goods, other assets, or services received.			
<u>(a</u>	) Line No.	(b) Amount involved	(c) Name of noncharitable exempt organization	(d) Description of transfers, transactions, and sha	ıring arra	ngemen	ts
_							
_							
_							
_							
_							
_							

2a Is the fo	oundation directly or indire	ectly affiliated with, or related to, one or mo	re tax-exempt organizations
describe	ed in section 501(c) (other	r than section $501(c)(3)$ ) or in section 527?	□ Yes ☑ No
	complete the following s		

aid	ı
	oar
-	On

(a) Name of organization (b) Type of organization (c) Description of relationship Under penalties of perjury, I declare that I have examined this return, including accompanying schedules and statements, and to the best of my knowledge and belief, it is true, correct, and complete. Declaration of preparer (other than taxpayer) is based on all information of which preparer has any knowledge. Sign May the IRS discuss this 2021-03-10 return Here with the preparer shown Signature of officer or trustee Title Date (see instr.) 🗹 Yes 🗆 No PTIN Print/Type preparer's name Preparer's Signature Date Check if self-P00324406 employed ▶ 🔲 So Sum Lee CPA P er Firm's name ▶ KROST Firm's EIN ▶95-3653314 ıly U 225 S LAKE AVE STE 400 Firm's address ▶

PASADENA, CA 91101

Phone no. (626) 449-4225

Form 990PF Part VIII Line 1 - List all officers, directors, trustees, foundation managers and their compensation (a) Name and address Title, and average (c) Compensation (If (d) Expense account, not paid, enter Contributions to (e) other allowances hours per week (b) devoted to position -0-) employee benefit plans and deferred compensation

John H Reith	Treasurer	6,000	1
924 So Oakland Ave Pasadena, CA 91106	5.00		
Gene E Gregg	President	6,000	
	┦ 5.00		1

924 So Oakland Ave Pasadena, CA 91106	President 5.00	6,000	
Richard H Zeiss	Vice President	8,000	
	1 1 00		1

924 So Oakland Ave Pasadena, CA 91106	5.00		
Richard H Zeiss	Vice President	8,000	
924 So Oakland Ave Pasadena, CA 91106	1.00		

Richard H Zeiss	Vice President	8,000	
924 So Oakland Ave Pasadena, CA 91106	1.00		
Michael Gurevich	Secretary	4,000	
924 So Oakland Ave	1.00		

Pasadena, CA 91106			
Michael Gurevich	Secretary	4,000	
924 So Oakland Ave Pasadena, CA 91106	1.00		

Pasadena, CA 91106  Andrew Crowell	Director	4,000	
Michael Gurevich  924 So Oakland Ave	Secretary 1.00	4,000	

1.00

924 So Oakland Ave Pasadena, CA 91106

efile GRAPHIC print - DO NOT	PROCESS As Fi	iled Data -		DI	N: 93491069007591	
TY 2019 Accounting Fees Schedule						
	Name: The	Hastings I	Foundation			
<b>EIN:</b> 95-1642370						
Sof	tware <b>ID:</b> 1900	09920				
Software	Version: 2019	9v5.0				
Category	Amount	Net	Investment Income	Adjusted Net Income	Disbursements for Charitable Purposes	
Accounting Fees	1	6,840	8,420	0	8,420	

efile GRAPHIC print - DO NOT PROCESS As Filed Data -DLN: 93491069007591 TY 2019 Distribution from Corpus Election **Name:** The Hastings Foundation **EIN:** 95-1642370 **Software ID:** 19009920 **Software Version:** 2019v5.0 **Election:** Pursuant to IRC Section 4942(h)(2) and Regulation 53.4942(a)-3 (d)(2), the foundation hereby elects to treat current year qualifying distributions in excess of the immediately preceding tax vear's undistributed income as being made out of corpus.

efile GRAPHIC print - DO NOT PROCESS	D	DLN: 93491069007591		
TY 2019 Investments Corpora	te Bonds Schedule			
Name:	The Hastings Foundation	on		
EIN:	95-1642370			
Software ID:	19009920			
Software Version:	2019v5.0			
nvestments Corporate Bonds Schedule				
Name of Bond	I	End of Year Book	End of Year Fair	

2,613,274

Value

Market Value

2,613,274

Fidelity - See Attachment

efile GRAPHIC print - DO NOT PROCESS	As Filed Data -	DLN: 93491069007591

## **TY 2019 Investments Corporate Stock Schedule**

Name: The Hastings Foundation

**EIN:** 95-1642370

**Software ID:** 19009920

Software Version: 2019v5.0

ISHARES Inc MSCI MLY ETF New

Name of Stock	End of Year Book Value	End of Year Fair Market Value
First Republic		
First Republic		
First Republic		
Fidelity - See Attachment	5,980,448	5,980,448
117 Shs Crown Castle Intl Corp		
340 Shs HCP Inc Com		
140 Shs Welltower Inc Com		
130 Shs Equity Commonwealth US		
308 Shs Weyerhaeuser Co Com		
25,000 Shs TPG RE Fin Tr Inc		
5,925 Shs Vanguard Real Estate		
ISHARES MSCI Taiwan ETF	5,430	5,430
ISHARES MSCI Singapore ETF	9,066	9,066

14,571

14,571

file GRAPHIC print - DO NOT PROCESS	As Filed Data -	D	LN: 93491069007591
TY 2019 Investments - Other	Schedule		
Name:	The Hastings Foundation		
EIN:	95-1642370		
Software ID:	19009920		
Software Version:	2019v5.0		
nvestments Other Schedule 2			
Category/ Item	Listed at Cos	st or Book Value	End of Year Fair

Software version: 2019v3.0			
Investments Other Schedule 2			
Category/ Item	Listed at Cost or FMV	Book Value	End of Year Fair Market Value
1,154 Shs SPDR SER TR SPDR BLO	AT COST		
Arixa Secured Income Fund LLC	FMV	527,229	527,229

efile GRAPHIC print - DO NOT PROCESS	As Filed Data	-1	DLN	N: 93491069007591
TY 2019 Legal Fees Schedule	;			
Name	: The Hastings	s Foundation		1
EIN	: 95-1642370	1		1
Software ID	: 19009920			1
Software Version	: 2019v5.0			
Category	Amount	Net Investment Income	Adjusted Net Income	Disbursements for Charitable Purposes
Legal Fees	18,224	0	0	18,224

TY 2019 Other Assets Schedule						
Name:	The Hasting	s Foundation				
EIN:	95-1642370	)				
Software ID:	19009920					
Software Version:	2019v5.0					
Other Assets Schedule						
Description		Beginning of Year - Book Value	End of Year - Book Value	End of Year - Fair Market Value		

5,000

DLN: 93491069007591

5,000

5,000

efile GRAPHIC print - DO NOT PROCESS | As Filed Data -

Legal Retainer

efile GRAPHIC print - DO NOT PROCESS	As Filed Data -		DLN:	93491069007591
<b>TY 2019 Other Expenses Sche</b>	dule			
Name:	The Hastings Fo	oundation		
EIN:	95-1642370			
Software ID:	19009920			
Software Version:	2019v5.0			
Other Expenses Schedule				
Description	Revenue and Expenses per Books	Net Investment Income	Adjusted Net Income	Disbursements for Charitable Purposes
Board Dinner	5,576			5,576

1,750

8,328

1,303

2,147

2,147

1,750

8,328

1,303

Board Meeting Expenses

Event Expenses

Investment Fees

Insurance

efile GRAPHIC print - DO NOT PROCE	SS As Filed Data	-	DLN	N: 93491069007591
TY 2019 Other Professiona	al Fees Schedu	le		
Na	me: The Hasting	s Foundation		
E	<b>IN:</b> 95-1642370	1		
Software	<b>ID:</b> 19009920			
Software Versi	ion: 2019v5.0			
Category	Amount	Net Investment Income	Adjusted Net Income	Disbursements for Charitable Purposes
Management Fees	85,285	85,285	0	0
Other Professional Services	4,000	600	0	3,400

efile GRAPHIC print - DO NOT PRO	OCESS As Filed Data	1 -	DL	N: 93491069007591
TY 2019 Taxes Schedule	e			
ı	Name: The Hasting	s Foundation		
	<b>EIN:</b> 95-1642370	J		
Softwa	are ID: 19009920			
Software Ve	<b>ersion:</b> 2019v5.0			
Category	Amount	Net Investment Income	Adjusted Net Income	Disbursements for Charitable Purposes
Excise Tax	6,500			
Foreign Taxes	1,635	1,635		
State Filing Fees	160			160

Schedule B	O NOT PROCESS	As Filed Data -				OMB No. 1545-0047
(Form 990, 990-EZ,			le of Contribute			
or 990-PF) Department of the Treasury Internal Revenue Service	•		Form 990, 990-EZ, or 990 <u>v/Form990</u> for the latest			2019
Name of the organization The Hastings Foundation						dentification number
Organization type (che	ck one):				95-1642370	
Filers of:	Section:					
Form 990 or 990-EZ	☐ 501(c)( )	(enter number) or	ganization			
	☐ 4947(a)(1)	nonexempt charit	table trust <b>not</b> treated a	as a private founda	ation	
	☐ 527 politica	al organization				
Form 990-PF	<b>✓</b> 501(c)(3) e	exempt private fou	ındation			
	4947(a)(1)	nonexempt charit	table trust treated as a	private foundation		
	☐ 501(c)(3) ta	axable private fou	ndation			
			F that received, during omplete Parts I and II. S			
Special Rules						
under sections 5 received from ar 990, Part VIII, lin	09(a)(1) and 170(b)(1 y one contributor, dur e 1h, or (ii) Form 990	)(A)(vi), that chec ring the year, total -EZ, line 1. Comp		i 990 or 990-EZ), F reater of <b>(1)</b> \$5,000	Part II, line 13, o or <b>(2)</b> 2% of	, 16a, or 16b, and that the amount on (i) Form
during the year,	total contributions of r	more than \$1,000	exclusively for religious animals. Complete Par	s, charitable, scien		
during the year, If this box is che purpose. Don't c	contributions <i>exclusiv</i> cked, enter here the to omplete any of the pa	rely for religious, cotal contributions arts unless the <b>Ge</b>		es, but no such cor ing the year for an his organization be	ntributions tota exclusively re ecause it rece	aled more than \$1,000. eligious, charitable, etc.
Caution: An organization 990-EZ, or 990-PF), but or on its Form 990PF, P990-EZ, or 990-PF).	it <b>must</b> answer "No"	on Part IV, line 2,	of its Form 990; or che	eck the box on line	H of its Form	
For Paperwork Reduction A for Form 990, 990-EZ, or 99		ctions	Cat. No. 30613X	Sched	ule B (Form 990	), 990-EZ, or 990-PF) (2019)

Schedule B (Form 990, 990-EZ, or 990-PF) (2019) Page 2 Name of organization Employer identification number The Hastings Foundation 95-1642370 Part I Contributors (see instructions). Use duplicate copies of Part I if additional space is needed. Contributors (a) (b) (c) (d) No. **Total contributions** Type of contribution Name, address, and ZIP + 4 Person Charles Hastings Trust 525 William Penn PI STE 1302 Payroll \$ 1,242,193 Noncash Pittsburgh, PA 15259 (Complete Part II for noncash contributions.) (a) (b) (c) (d) **Total contributions** No. Name, address, and ZIP + 4 Type of contribution Person **Payroll** Noncash (Complete Part II for noncash contributions.) (a) (b) (c) (d) **Total contributions** No. Name, address, and ZIP + 4 Type of contribution Person **Payroll** Noncash (Complete Part II for noncash contributions.) (b) (c) (a) (d) **Total contributions** Type of contribution Name, address, and ZIP + 4 No. Person **Payroll** \$ Noncash (Complete Part II for noncash contributions.) (a) (b) (c) (d) **Total contributions** No. Name, address, and ZIP + 4 Type of contribution Person **Payroll** Noncash (Complete Part II for noncash contributions.) (b) (a) (c) (d) No. Name, address, and ZIP + 4 **Total contributions** Type of contribution Person **Payroll** \$ Noncash (Complete Part II for noncash contributions.)

Schedule	B (Form 990, 990-EZ, or 990-PF) (2019)			Page <b>4</b>
	rganization Igs Foundation		Em	ployer identification number
Part III	Exclusively religious, charitable, etc., contribute than \$1,000 for the year from any one contribute organizations completing Part III, enter the total the year. (Enter this information once. See instruction of the description of the description of the property of the p	or. Complete colu of exclusively re uctions.) ► \$	ons described in mns (a) through	(e) and the following line entry. For
(a) No. from Part I	(b) Purpose of gift	(c) Use	of gift	(d) Description of how gift is held
	Transferee's name, address, and ZIP 4	(e) Transf		ship of transferor to transferee
(a) No. from Part I	(b) Purpose of gift	(c) Use	of gift	(d) Description of how gift is held
	Transferee's name, address, and ZIP 4	(e) Transf		ship of transferor to transferee
(a) No. from Part I	(b) Purpose of gift	c) Use	of gift	(d) Description of how gift is held
	Transferee's name, address, and ZIP 4	(e) Transf		ship of transferor to transferee
(a) No. from Part I	(b) Purpose of gift	(c) Use	of gift	(d) Description of how gift is held
	Transferee's name, address, and ZIP 4	(e) Transf		ship of transferor to transferee
			Sche	edule B (Form 990, 990-EZ, or 990-PF) (2019)

The Hastings Foundation FEIN 95-1642370 Federal Statement 6 Attachment Form 990-PF, Part II, Line 10b Investments - Corporate Stocks - Fidelity

Mutual Funds	en	stments - Corp	Investments - Corporate Stocks - Fidelity	λį			
Description	Quantity	Price Per Unit	Total Market Value	Total Cost Basis	Unrealized Gain/Loss	Est. Annual E Income (EAI)	Est.Yield (EY)
Stock Funds							-
MVIRTUS KAR INTL SMALL CAP CL I(VIISX) MVIRTUS KAR LONG SHORT EQUITY I(VLSIX)	17,113.924 10,811.917	\$17.4700 15.0800	\$298,980.25 163,043.70	\$288,159.71 149,853.17	\$10,820.54 13,190.53	\$12,724.07	4.260%
Total Stock Funds (5% of account holdings)			\$462,023.95	\$438,012.88	\$24,011.07	\$12,724.07	
Total Mutual Funds (5% of account holdings)			(j) \$462,023.95	\$438,012.88	\$24,011.07	\$12,724.07	
Stocks		Q	Total	T-+0T-	forilegal	Section 4	A viet ∨
Description	Quantity	Per Unit	Market Value	Cost Basis	Gain/Loss	Income (EAI)	(EY)
Common Stock							
MALLEGION PLC ORD SHS(ALLE)	150.000	\$102.2200	\$15,333.00	\$18,372.04	-\$3,039.04	\$192.00	1.250%
MAFLAC INC COM USD0.10(AFL)	794.000	36.0300	28,607.82	39,327.42	-10,719.60	889.28	3.110
MAIA GROUP LTD SPONSORED ADRIAGIY)	149.000	37.3140	5,559.78	5,791.37	-231,59	89.55	1.610
MAMN HEALTHCARE SVCS INC COM(AMN)	472.000	45.2400	21,353.28	26,580.39	-5,227.11	•	•
MABBOTT LABORATORIES(ABT)	317.000	91.4300	28,983.31	26,801.49	2,181.82	456.48	1,570
MACUSHNET HOLDINGS CORP COM(GOLF)	2,157.000	34.7900	75,042.03	53,048.58	21,993.45	1,337,34	1.780
MAIR LIQUIDE(L ) ADR-EACH CNV INTO	758.000	28.8430	21,862.99	19,025.23	2,837.76	443.24	2.030
MALPHABET INC CAP STK CL A(GOOGL)	50,000	1,418.0500	70,902.50	61,670.14	9,232.36	,	,
MAMERISOURCEBERGEN CORPORATION	449.000	100.7700	45,245.73	38,405.13	6,840.60	754.32	1.670
COM USD0.01 (ABC)							
MAMETEK INC COM (AME)	533.000	89.3700	47,634.21	45,688.27	1,945.94	383.76	0.810
MAMGEN INC (AMGN)	303.000	235.8600	71,465.58	61,915.83	9,549.75	1,939.20	2.710
MAMPHENOL CORP CLASS A COM USD0.001	286.000	95.8100	27,401.66	25,081.48	2,320.18	286.00	1.040
(APH) MAPPLE INC COM USD0.00001(AAPL)	170.000	364,8000	62.016.00	36,183.62	25,832,38	557.60	0.900
MAPTARGROUP INC(ATR)	255.000	111.9800	28,554.90	30,565,29	-2,010.39	367.20	1.290
MARTISAN PARTNERS ASSET MGMT INC COM	1,112.000	32.5000	36,140.00	29,630.47	6,509.53	2,713.28	7.510
USD0.01 CL A (APAM) MASPEN TECHNOLOGY INC COM(AZPN)	1,131,000	103.6100	117,182,91	154,358.52	-37,175,61	•	•
MASSA ABLOY UNSP ADR EA REPR 0.50 ORD	579,000	10.1670	5,886.69	6,208.78	-322.09	58.85	1.000
SHS (ASAZY) MATLAS COPCO AB SP ADR A NEW(ATLKY)	205.000	42.3540	8,682.57	6,080,71	2,601.86	139.74	1.610
MATRION CORP (ATRI)	56.000	637.0100	35,672.56	44,062.80	-8,390.24	347.20	0.970
MAUTOHOME INC SPON ADS EACH REP 1 ORD	1,933.000	75.5000	145,941.50	154,456.29	-8,514.79	•	ŧ
MADE OF A (AITHW) MATIC DATA PROCESSING INC COM	147,000	148.8900	21,886.83	23,493.24	-1,606.41	535.08	2.440
MBP PLC SPONSORED ADR(BP)	239.000	23.3200	5,573,48	7,703.09	-2,129.61	590.33	10.590
MBECTON DICKINSON &CO COM USD1.00	311.000	239.2700	74,412.97	79,244.17	-4,831.20	982.76	1.320
MBRAMBLES LTD SPON ADR EACH REP 2 ORD SHS (BXBLY)	000'696	14.9680	14,503.99	14,724,38	-220.39	314.85	2.170

	F	ne Hastings Found	The Hastings Foundation FEIN 95-1642370	0			0
Stocks (continued)	ĸĸ.	Federal Statement 6 Attachment Form 990-PF, Part II, Line 10b	Attachment , Line 10b rate Stock <b>fotal</b> idelity	Total	Unrealized	Est. Annual	<b>6</b> Est.Yield
Description	Quantity	Vestillerits - excipor	Per Unit Market Value	Cost Basis	Gain/Loss	Income (EAI)	(EY)
Common Stock (continued)							
MBROADRIDGE FINANCIAL SOLUTION INC COM	521.000	126.1900	65,744.99	67,161.03	-1,416.04	1,125.36	1.710
USD0.01 (BR) MBROOKS AUTOMATION INC NEW COM	954.000	44.2400	42,204.96	30,709.15	11,495.81	381.60	0.900
MBUNZL SPON ADR EACH REP 1 ORQ(BZLFY)	172.000	26.7630	4,603.23	4,810.40	-207.17	•	ì
MCDW CORP COM USD0.01(CDW)	1,029.000	116.1800	119,549.22	120,095.42	-546.20	1,564.08	1,310
MCVS HEALTH CORPORATION COM	816.000	64.9700	53,015.52	51,232.92	1,782.60	1,632.00	3.080
USD0.01 (CVS) MCHEVRON CORP NEW COM(CVX)	395 000	89,2300	35 245 85	46 630 69	-11.384.84	2.038.20	5 780
MCHINA MOBILE LTD SPON ADR REP 5 ORD	224.000	33,6400	7,535,36	9,332.75	-1,797.39	420.42	5.580
HKD0.10 (CHL) MCHUNGHWA TELECOM ADR EA REPR 10	231.000	39.3700	9,094.47	7,879.57	1,214.90	255.36	2.810
ORD TWD10(CHT) MCOCA COLA CO(KO)	000 699	44 6800	29.890.92	29.686.39	204.53	1.097.16	3.670
MCOGNIZANT TECHNOLOGY SOLUTIONS	558.000	56.8200	31,705.56	34,219.56	-2,514.00	491.04	1.550
CORP COM CL A USD0.01 (CTSH)							
MCOMPUTERSHARE LTD SPON ADR EACH DED 1	1,361,000	9.1230	12,416.40	12,912.05	-495,65	626.06	5,040
ORD SHS (CMSQY)  M COMPACE A DEANING INCOME.	1 168 000	96 1700	41 070 EC	90 409 07	0 675 C	0000	0.400
MOODED OOM INCOME	78,000	20.1700	41,070,00	30,400.07	2,070,43	332.00	0.000
MDEUTSCHE POST AG SPONS ADR EA REPR 1	541,000	36.5590	19,778.41	17,514.20	2,264.21	672.49	3.400
ORD SHS (DPSGY)  MDOLBY LABORATORIES INC COM CL A(DLB)	359,000	65.8700	23 647.33	23.898.27	-250 94	315.92	1.340
MDOLLAR GEN CORP NEW COM(DG)	226.000	190.5100	43,055.26	31,783.90	11,271.36	325.44	0.760
M DONALDSON INC COM(DCI)	654.000	46.5200	30,424.08	31,521.21	-1,097.13	549.36	1.810
MDRIL QUIP INC COM(DRQ)	1,077.000	29.7900	32,083.83	51,931.72	-19,847.89	,	ş
MELANCO ANIMAL HEALTH INC COM(ELAN)	1,057.000	21.4500	22,672.65	28,373.73	-5,701.08	1	,
MEMCOR GROUP INC COM STK USD0.01(EME)	886.000	66.1400	58,600.04	51,145.86	7,454.18	283.52	0.480
MEMERSON ELECTRIC CO (EMR)	135.000	62.0300	8,374.05	7,871.08	502.97	270.00	3.220
MEQUIFAX INC COM USD1.25(EFX)	329.000	171.8800	56,548.52	43,975.09	12,573,43	513,24	0.910
MEXPONENT INC(EXPO)	368.000	80.9300	29,782.24	25,864.31	3,917.93	279.68	0.940
"FACISEI RESH STS INC COM(FDS)	736.000	328.4700	76.816,77	65,471.85	12,047.07	7.25.88	0.840

Stocks (continued)

Holdings

The Hastings Foundation FEIN 95-1642370 Federal Statement 6 Attachment Form 990-PF, Part II, Line 10b Investments - Corporate Stocks - Fidelity

		,			:		
Description	Quantity	Price Per Unit	Total Market Value	Total Cost Basis	Unrealized Gain/Loss	Est. Annual Income (EAI)	Est.Yield (EY)
Common Stock (continued)							
M FIRST FINANCIAL BANKSHARES INC FFIN	614,000	28.8900	17,738,46	19.280.12	-1.541.66	319.28	1,800
M FIRST HAWAIIAN INC COM(FHB)	4.766.000	17.2400	82,165,84	113,166,13	-31,000,29	4.956.64	6.030
MGEA GROUP AG SPON ADR EACH REPR	655 000	31,6170	20 709 13	17,375,66	3 333 47	284 08	1370
10RD (GEAGY)		)					)
MGENERAL MILLS INC COM USD0.10(GIS)	708.000	61.6500	43,648.20	38,885.21	4,762.99	1,387.68	3,180
MGLAXOSMITHKLINE PLC SPONSORED ADR	253.000	40.7900	10,319.87	10,474.43	-154.56	499.85	4.840
(GSK)							
MGLOBAL PMTS INC COM(GPN)	156.000	169.6200	26,460.72	29,461.82	-3,001.10	121.68	0.460
MGLOBUS MED INC CL A NEW(GMED)	833.000	47.7100	39,742.43	42,762.17	-3,019.74	•	í
MGRACO INC (GGG)	1,606.000	47.9900	77,071.94	72,873.29	4,198.65	1,124.20	1.460
MGRAINGER W W INC COM USD0.50(GWW)	130.000	314.1600	40,840.80	36,167.73	4,673.07	748.80	1.830
M HEICO CORP COM USD0.01(HEIA)	354,000	81.2400	28,758.96	26,585.69	2,173.27	56.64	0.200
M HENRY JACK &ASSOCIATES INC COM	290.000	184.0300	53,368.70	41,622.48	11,746.22	498.80	0.930
USD0.01 (JKHY)							
HOULIHAN LOKEY INC CL A(HLI)	462.000	55.6400	25,705.68	20,312.02	5,393.66	572.88	2.230
MILLINOIS TOOL WORKS INC COM USD0.01	144,000	174.8500	25,178.40	22,386.78	2,791.62	616.32	2.450
(ITW) MINTUIT COM (INTU)	119,000	296,1900	35,246,61	31,676,05	3,570,56	252.28	0.720
MJOHNSON &JOHNSON COM USD1.00JNJ)	839,000	140 6300	117,988,57	119,254.31	-1.265.74	3 389 56	2.870
M KDDI CORP ADR/KDDIY)	1 103 000	14.9880	16 531 76	14 600 72	1.931.04	588.74	3 560
MKROGER CO COM USD1.00(KR)	1,778,000	33.8500	60 185 30	41 903 11	18 282 19	1 280 16	2 130
MLAMB WESTON HLDGS INC COM(LW)	551,000	63.9300	35,225,43	36,004,17	-778.74	506.92	1.440
MLEGAL & GENERAL GROUP SPON ADR EACH	814.000	13.6470	11,108.65	11,446.04	-337.39	842.39	7.580
CNV INTO 5 ORD GBP0.025 (LGGNY)							
MLENNOX INTERNATIONAL INC COM USD0.01	113.000	232.9900	26,327.87	28,916.76	-2,588.89	348.04	1.320
(LII)	000	406	00 40	, ,	000	00000	600
COMPANIES INC COM OSDOJES	400.000	133, 1200	00.100,40	01,770	13,002.43	00.000,1	0.69.1
M MONTH ASSOCIATES INC COM USD0.01	883.000	94.2000	83,178.60	60,560.20	22,618.40	•	•
(MANH) MAARKETAXESS HIDGS INC COM(MXTX)	118 000	500 9200	59 108 56	46 383 93	12 724 63	283.20	0.480
MMARSH &MCLENNAN COMPANIES INC COM	472.000	107.3700	50,678.64	50,963.67	-285.03	859.04	1,700
USD1.00 (MMC) M MASTERCARD INCORPORATED CL A(MA)	99.000	295.7000	29,274.30	26,993.64	2,280.66	158.40	0.540

		The Hastings Foundation FEIN 9	The Hastings Foundation FEIN 95-1642370	170			4
Stocks (continued)		Form 990-PF, Part II, Line 10b	II, Line 10b				
Description	Quantity	Investme្នាដ្រឹម៉្ <sup>ce</sup> Corp Per Unit	InvestmerfğiceCorporate Stockst- Fidelity	Total Cost Basis	Unrealized Gain/Loss	Est. Annual Income (EAI)	Est.Yield (EY)
Common Stock (continued)							
MMERCK &CO. INC COM (MRK)	588.000	77,3300	45,470.04	50,973.46	-5,503.42	1,434.72	3.160
MMICROSOFT CORP (MSFT)	451,000	203.5100	91,783.01	61,961.62	29,821.39	920.04	1.000
MMICROCHIP TECHNOLOGY INC. COM(MCHP)	413.000	105.3100	43,493.03	37,049.20	6,443.83	607.11	1.400
MMITSUBISHI ELEC CORP ADR(MIELY)	593,000	25.9440	15,384.79	13,858.44	1,526.35	436.16	2.840
MMOELIS &CO CL A (MC)	1,479.000	31.1600	46,085.64	48,729.27	-2,643.63	1,508.58	3.270
MOODYS CORP COM USD0.01(MCO)	110,000	274.7300	30,220.30	23,888.10	6,332.20	246.40	0.820
MNATIONAL GRID SPON ADR EACH REP 5 ORD	179.000	60.7400	10,872.46	9,315.92	1,556.54	545.93	5.020
SHS(POST SPLT) (NGG)							
MINESTLE S A SPONSORED ADR(NSRGY)	166.000	110.5380	18,349.30	17,606.49	742.81	459.81	2.510
M NEWCREST MINING ADR-EACH CNV INTO 1	378.000	21.7080	8,205.62	8,901.18	-695.56	73.18	0.890
ORD NPV (NCMGY)	000	0 0	i	0	i i	0 0	0
"NIKE INC CLASS B COM NEV(NKE)	483.000	0000.88	47,358.15	43,140.34	4,217,81	473.34	000
MINHON KOHDEN CORP UNSPONSORED ADR	850.000	16.8000	14,280.00	11,794.08	2,485.92	137.49	0.960
(NHNKY)							
MORDSON CORP COM(NDSN)	144.000	189.7100	27,318.24	19,395.83	7,922.41	218.88	0.800
MNOVARTIS AG SPONSORED ADR(NVS)	170.000	87.3400	14,847.80	15,338.94	-491.14	341.15	2.300
MOLD DOMINION FREIGHT LINE INC COM	605.000	169.5900	102,601.95	66,585.97	36,015.98	363.00	0.350
(ODFL)							
MOMNICOM GROUP INC COM USD0.15(OMC)	829.000	54.6000	45,263.40	64,156.08	-18,892.68	2,155.40	4.760
MORACLE CORP COM (ORCL)	366.000	55.2700	20,228.82	19,467.94	760.88	351.36	1,740
MPEPSICO INC (PEP)	592.000	132.2600	78,297.92	76,473.96	1,823.96	2,421.28	3.090
MPFIZER INC (PFE)	1,107,000	32.7000	36,198.90	42,187.64	-5,988.74	1,682.64	4.650
MPOOL CORP COM(POOL)	381,000	271.8700	103,582.47	75,778.46	27,804.01	883.92	0.850
M POWER ASSETS HLDGS LTD SPONSORED	819.000	5.4380	4,453.72	5,686.76	-1,233.04	262.37	5.890
ADR (HGKGY)							
MPRICESMART INC (PSMT)	645,000	60.3300	38,912.85	37,698.11	1,214.74	451.50	1.160
MPRIMERICA INC COM USD0.01(PRI)	994,000	116.6000	115,900.40	117,583.78	-1,683.38	1,590.40	1.370
MPROCTER AND GAMBLE CO COM(PG)	217,000	119.5700	25,946.69	25,660.95	285.74	686.33	2.650
MOBE INS GROUP LTD SPONSORED ADR	1,631.000	6.1000	9,949.10	12,075.38	-2,126.28	517.24	5.200
(OBIEY)	0 0 1 1	0 0 0		, , , , , , , , , , , , , , , , , , ,	0000	6	1
MEDICORP COM USD1.00(RLI)	265.000	42.1000	45,385.50	50,323.11	-3,936.61	542.40	0/1.1
NOC DEAKINGS INC (ROLL)	040.000	0010.150	45,57,550	04,213.00	0,040,0-	1	1

# The Hastings Foundation FEIN 95-1642370

Holdings

Federal Statement 6 Attachment	Form 990-PF, Part II, Line 10b	Investments - Corporate Stocks - Fidelity
--------------------------------	--------------------------------	---

Stocks (continued)		:	:	:			
Description	Quantity	Price Per Unit	Total Market Value	Total Cost Basis	Unrealized Gain/Loss	Est. Annual Income (EAI)	Est.Yield (EY)
Common Stock (continued)							
MRECKITT BENCKISER GROUP PLC SPON	561.000	18.3660	10,303.32	8,586.06	1,717.26	226.80	2.200
EACH REP 0.20 ORD SHS (RBGLY)  M RIGHTMOVE UNSP ADR EACH REP 2 ORD	6,601.000	13.4930	89,067,29	85,817,95	3,249,34	•	ı
SHS (RTMVY) MRIO TINTO ADR EACH REP 1 ORD/RIO)	136 000	56 1800	7 640 48	6 609 11	1 031 37	519 52	6 800
M ROCHE HLDG LTD SPONSORED ADR	383.000	43.3160	16,590.02	13,425.34	3,164.68	275.30	1.660
(RHHBY) Mross stores inc com(ROST)	988 000	85 2400	84 217 12	97 938 61	-13 721 49	•	,
MROYAL DUTCH SHELL PLC SPON ADR B	139.000	30.4500	4,232.55	8,542.44	4,309.89	177.92	4.200
(RDSB) MROYAL DUTCH SHELL ADR EA REP 2 CL A	426.000	32.6900	13,925.94	19,395.16	-5,469.22	1,337.64	9.610
M SEI INVTS CO COM (SEIC)	430.000	54.9800	23,641.40	24,559.60	-918.20	301.00	1.270
M SANOFI SPONSORED ADR(SNY)	371.000	51.0500	18,939.55	17,466.83	1,472.72	634.73	3.350
MSAP SE SPON ADR(SAP)	148.000	140.0000	20,720.00	17,690.43	3,029.57	184.47	0.890
M SIMPSON MANUFACTURING CO INC	871.000	84.3600	73,477.56	55,730.43	17,747.13	801.32	1.090
MSINGAPORE TELECOMMUNICATIVS LTD	328.000	17.6340	5,783.95	7,672.08	-1,888.13	404.02	066.9
SPON AUX NEWUG (SCAPT)  Matteore Landscape supply inc com	424.000	113.9700	48,323.28	32.886.62	15,436.66	٠	
(SITE) M SMUCKER J M CO COM NEW (SJM)	278.000	105.8100	29,415.18	31,672.98	-2.257.80	978.56	3,330
MSTANLEY BLACK & DECKER INC COM	176.000	139.3800	24,530.88	24,727.05	-196.17	485.76	1.980
USD2.50 (SWK) MSTARBUCKS CORP COM USD0.001(SBUX)	309 000	73 5900	22 739 31	24 137 41	-1 398 10	506 76	2.230
MSTATE STR CORP COM (STT)	704.000	63.5500	44,739.20	36,024.05	8,715.15	1,464.32	3.270
MSTRYKER CORPORATION COM (SYK)	236.000	180.1900	42,524.84	48,919.90	-6,395.06	542.80	1.280
MSYSCO CORP (SYY)	543.000	54.6600	29,680.38	23,910.47	5,769.91	977.40	3.290
M TJX COS INC NEW COM(TJX)	396.000	50.5600	20,021.76	19,692.73	329.03	•	,
MANIESCHIPING SPON	159.000	56.7700	9,026.43	6,701.47	2,324.96	307.19	3.400
MASS EACH REP 5 ORD TWD10 (TSM)  M TELEDYNE TECH INC (TDY)	441.000	310.9500	137,128.95	135,733.95	1,395.00	•	•

The Hastings Foundation FEIN 95-1642370

Stocks (continued)

Holdings

Federal Statement 6 Attachment	Form 990-PF, Part II, Line 10b	Investments - Corporate Stocks - Fidelity
--------------------------------	--------------------------------	---

Coordinated)			·	i	:		:
Description	Quantity	Price Per Unit	lotal Market Value	lotal Cost Basis	Unrealized Gain/Loss	ESt. Annual Income (EAI)	ESt. Yield (EY)
Common Stock (continued)							
MTELENOR ASA ADR EACH REPR 1 ORD NOK6	562.000	14.5230	8,161.92	11,171.65	-3,009.73	494.56	6.060
SPON(TELNY) MTEXAS INSTRUMENTS INC COM USD1.00	165.000	126.9700	20,950.05	21,114.59	-164.54	594.00	2.840
MONA CONTRACTOR	000 202	155 0000	01 054 15	05 073 70	2 849 67	9 420 00	077.0
Made of the state	900.000	100.9300	30 450 00	20,010,02	10.010.01 0.010.01	4,000,000	4 510
	1,062.000	00.5400	70,405,00	10,709.03	-6,306,40	0.790,1	0.0.1
"TRACTOR SUPPLY CO(ISCO)	196.000	131,7900	25,830.84	19,902.88	5,927.96	2/4.40	1.060
MUS BANCORP DEL COM NEW(USB)	646.000	36.8200	23,785.72	24,023,43	-237.71	1,085.28	4.560
MUNILEVER NV EURO.16(NEW YORK	1,049,000	53.2700	55,880.23	57,278.15	-1,397,92	1,894.81	3.390
SHAKES) (UN)							
W UNITED OVERSEAS BK LTD SPONSORED ADR (LICVEY)	210.000	29.0030	6,090.63	7,677.41	-1,586.78	331.83	5.450
MUNITED PARCEL SVC INC CL B(UPS)	334.000	111,1800	37,134.12	38,465.40	-1,331,28	1,349.36	3.630
MUNITEDHEALTH GROUP(UNH)	423.000	294.9500	124,763.85	99,084.30	25,679.55	2,115.00	1,700
M V F CORP COM NPV (VFC)	422.000	60.9400	25,716.68	35,470.40	-9,753.72	810.24	3,150
MVERISK ANALYTICS INC COM (VRSK)	147.000	170.2000	25,019.40	23,278.21	1,741.19	158.76	0.630
MVODAFONE GROUP SPON ADR EACH REP 10	480.000	15.9400	7,651.20	8,730.11	-1,078.91	459.95	6.010
ORD (VOD)							
Mytech HLDGS UNSPIADR EACH REPRIORD	458.000	6.0060	2,750.74	3,854,44	-1,103.70	274.76	9.990
MWEST PHARMACEUTICAL SERVICES(WST)	214.000	227.1700	48,614.38	31,267.55	17,346.83	136.96	0.280
M WOODSIDE PETROLEUM SPON ADR EACH	740.000	14.9060	11,030.44	14,558.65	-3,528.21	910.20	8.250
ORD SHS (WOPEY)							
MZEBRA TECHNOLOGIES CORPORATION CL A	131.000	255.9500	33,529.45	26,673.16	6,856.29		
MZURICH INSURANCE GROUP AG SPON ADR EACH REP 0.1 ORD SHS (ZURVY)	181.000	35.2700	6,383.87	6,453.03	-69.16	23.78	0.370
Total Common Stock (58% of account holdings)			\$5,518,423.64	\$5,281,674.25	\$236,749.39	\$94,378.76	
Total Stocks (58% of account holdings)			Ø \$5,518,423.64	\$5,281,674.25	\$236,749.39	\$94,378.76	

| 462,023.95 + | 5,518,423.64 + | 5,980,447.59 \* Total Mutual Funds (PDF page 1) Total Stocks (PDF pg 6) Total Sum of 1's

(	n	
1	3	
1	=	
•	_	
7	2	
(	<u> </u>	
	С	

Bonds						:		•
Description	Maturity	Quantity	Price T Per Unit Aco	Price Total Market Value Per Unit <i>Accrued Interest (AI)</i>	Total Cost Basis	Unrealized Gain/Loss	Est. Annual Income (EAI)	Coupon Rate
Corporate Bonds								
MMCDONALDS CORP MED TERM NT BE MTN	07/15/20	90,000.000	\$100.1090	\$90,098.10	\$90,050.78 <sup>B</sup>	\$47.32	\$1,575.00	3.500%
FIXED COUPON MOODYS Baa1 S&P BBB+ SEMIANNUALLY MAKE WHOLE CALL CUSIP: 58013MEJ9	S&P BBB+ SEMIA	NNUALLY MAKE WHO!	LE CALL CUSIP:	58013MEJ9				
MWELLS FARGO CO MTN BE	04/01/21	90,000.000	103.0940	92,784.60 1,035.00	91,701.05B	1,083.55	4,140.00	4.600
FIXED COUPON MOODYS A2 S&	<b>SP A- SEMIANNU</b>	S&P A- SEMIANNUALLY CUSIP: 94974BEV8	8/					
MHERSHEY CO NOTE CALL MAKE WHOLE	05/15/21	85,000.000	102.4740	87,102.90 336.69	85,930.68 <sup>B</sup>	1,172.22	2,635.00	3.100
	RP A SEMIANNUA	S&P A SEMIANNUALLY MAKE WHOLE CALL CUSIP: 427866BA5	ALL CUSIP: 42786	6BA5				
MGOLDMAN SACHS GROUP INC	01/24/22	90,000,000	107.8840	97,095.60 2.256.87	94,913.56B	2,182.04	5,175.00	5.750
COUPON MOODYS A3	S&P BBB+ SEMIANNUALLY CUSIP		38141GGS7					
<u>u</u>	04/25/22		103.2300	92,907.00	90,684.97B	2,222.03	2,160.00	2.400
IDON MOODYS A1	SD A SEMIANNI	TAULY NEXT CALL DATE	103/25/2022 CON	SSED A SEMIANNITALLY NEXT CALL DATE 03/25/2022 CONT CALL 03/25/2022 MAKE WHOLE CALL CITSID: 637432NM3	DISTO LIVE OF WHOLE	P. 637/42NB43		
DSMITHKLINE CAPITAL F	05/08/22	85,000.000	104.3170	88,669.45	86,104.51B	2,564.94	2,422.50	2.850
NOTE				356.65				
FIXED COUPON MOODYS A2 S&P A SEMIANNUALLY MAKE WHOLE CALL CUSIP: 377373AD7	SP A SEMIANNUA	ALLY MAKE WHOLE CA	ALL CUSIP: 37737	٨.		6	( ( ( ( ( ( ( ( ( ( ( ( ( ( ( ( ( ( (	i i
™ORACLE CORP NOTE CALL MAKE WHOLE	<b>E</b> 05/15/22	100,000,000	103.3980	103,398.00 379.44	100,761.09B	2,636.91	2,500.00	2.500
	RP A SEMIANNUA	ILY NEXT CALL DATE	: 03/15/2022 CON	S&P A SEMIANNUALLY NEXT CALL DATE 03/15/2022 CONT CALL 03/15/2022 MAKE WHOLE CALL CUSIP; 68389XBB0	(E WHOLE CALL CUSIF	: 68389XBB0		
MCATERPILLAR INC DEL NOTE	06/26/22	90,000,000	103.3830	93,044.70 32.50	91,180.96 <sup>B</sup>	1,863.74	2,340.00	2.600
DDYS A3	&P A SEMIANNUA	ILLY NEXT CALL DATE	03/26/2022 CON	S&P A SEMIANNUALLY NEXT CALL DATE 03/26/2022 CONT CALL 03/26/2022 MAKE WHOLE CALL CUSIP 149123BX8	(F WHOLE CALL CUSIF	· 149123BX8		
DINC NOTE CALL MAK	07/17/22	90,000,000	105.1020	94,591.80	92,149.91B	2,441.89	2,790.00	3.100
				1,271.00				
	8P A+ SEMIANNU	ALLY NEXT CALL DAT	E 05/17/2022 CO	S&P A+ SEMIANNUALLY NEXT CALL DATE 05/17/2022 CONT CALL 05/17/2022 MAKE WHOLE CALL CUSIP: 713448CX4	KE WHOLE CALL CUS	P: 713448CX4		
MHOME DEPOT INC NOTE CALL MAKE WHOLE	04/01/23	90,000.000	105.6050	95,044.50 607.50	91,889.63 <sup>15</sup>	3,154.87	2,430.00	2.700
N MOODYS A2	RP A SEMIANNUA 04/01/23	ALLY NEXT CALL DATE 90,000,000	: 01/01/2023 CON 105.0650	S&P A SEMIANNUALLY NEXT CALL DATE 01/01/2023 CONT CALL 01/01/2023 MAKE WHOLE CALL CUSIP: 437076AZ5 04/01/23 90,000,000 105,0650 3.444,	CE WHOLE CALL CUSIF 91,113,74B	7; 437076AZ5 3,444.76	2.250.00	2.500
				562.50	4			
FIXED COUPON MOODYS A2 S8	&P A- SEMIANNU	ALLY NEXT CALL DATE	E 03/01/2023 COI	S&P A- SEMIANNUALLY NEXT CALL DATE 03/01/2023 CONT CALL 03/01/2023 MAKE WHOLE CALL CUSIP: 911312BK1	KE WHOLE CALL CUSI	P: 911312BK1		

The Hastings Foundation FEIN 95-1642370 Federal Statement 7 Attachment Form 990-PF, Part II, LIne 10c

 $\infty$ 

			roin ago-rr, rait II, rine 100	200				ı
Bonds (continued)		Invest	Investments - Corproate Bond - Fidelity	ond - Fidelity				
,			Price Total Ma	Total Market Value	Total	Unrealized	Est. Annual	Coupon
Description	Maturity	Quantity	Per Unit Accrued Interest (AI)	iterest (AI)	Cost Basis	Gain/Loss	Income (EAI)	Rate
Corporate Bonds (continued)								
MAPPLE INC NOTE CALL MAKE WHOLE	05/03/23	90,000.000	105.7070	95,136.30 348.00	91,168.14B	3,968.16	2,160.00	2.400
FIXED COUPON MOODYS Aa1 S&P AA+ SEMIANNUALLY MAKE WHOLE CALL CUSIP: 037833AK6	&P AA+ SEMIAN	NUALLY MAKE WHOLE	CALL CUSIP: 037833AK					
MJPMORGAN CHASE &CO NOTE	05/13/24	90,000,000	110.4340	99,390.60 <i>43</i> 5. <i>00</i>	94.672.00B	4,718.60	3,262.50	3.625
FIXED COUPON MOODYS A2 S&P A- SEMIANNUALLY CUSIP: 46625HJX9	P A SEMIANNU	JALLY CUSIP; 46625HJ)	9					
MBERKSHIRE HATHAWAY INC DEL NOTE	03/15/26	90,000,000	111.8550	100,669.50	96,418,49B	4,251.01	2,812.50	3.125
FIXED COUPON MOODYS A42 S&P AA SEMIANNUALLY NEXT CALL DATE 12/15/2025 CONT CALL 12/15/2025 MAKE WHOLE CALL CUSIP: 084670BS6	8P AA SEMIANN	IUALLY NEXT CALL DA'	TE 12/15/2025 CONT CA	LL 12/15/2025 MA	KE WHOLE CALL CUS	IP: 084670BS6		
M TARGET CORP NOTE CALL MAKE WHOLE	04/15/26	900.000,06	109.7960	98,816.40 475.00	89,403.30 B	9,413.10	2,250.00	2.500
FIXED COUPON MOODYS A2 S&P A SEMIANNUALLY MAKE WHOLE CALL CUSIP: 87612EBE5	P A SEMIANNU	ALLY MAKE WHOLE CA	ALL CUSIP: 87612EBE5					
M HONEYWELL INTL INC NOTE CALL 11/01/26 MAKE WHOLE	L 11/01/26	85,000.000	110.1570	93,633.45 354.17	86,360.29B	7,273.16	2,125.00	2.500
Λi	P A SEMIANNU	S&P A SEMIANNUALLY NEXT CALL DATE	DATE 08/01/2026 CONT CALL 08/01/2026 MAKE WHOLE CALL CUSIP: 438516BL9	. 08/01/2026 MAKE	EWHOLE CALL CUSIP	: 438516BL9		
MVISA INC NOTE CALL MAKE WHOLE	04/15/27	85,000.000	104.5220	88,843.70 399.26	85,523.72 <sup>B</sup>	3,319.98	1,673.32	1.900
FIXED COUPON MOODYS AA3 S&P AA- SEMIANNUALLY NEXT CALL DATE 02/15/2027 CONT CALL 02/15/2027 MAKE WHOLE CALL CUSIP: 92826CAL6	&P AA- SEMIAN	NUALLY NEXT CALL DA	TE 02/15/2027 CONT CA	ALL 02/15/2027 MA	KE WHOLE CALL CUS	SIP: 92826CAL6		
INTUIT NOTE CALL MAKE WHOLE	07/15/27	100,000,000	100.4600	100,460.00 7.50	99,906,00 <sup>B</sup>	554.00	735.00	1.350
FIXED COUPON MOODYS A3 S&	P A- SEMIANNU	S&P A- SEMIANNUALLY NEXT CALL DATE	DATE 05/15/2027 CONT CALL 05/15/2027 MAKE WHOLE CALL CUSIP: 46124HAC0	L 05/15/2027 MAK	E WHOLE CALL CUSIF	P: 46124HAC0		
DISNEY WALT CO NOTE CALL	09/01/29	80,000.000	101.9020	81,521.60	81,160,71B	360.89	1,600.00	2.000
N MOODYS 42	D A. SEMIANNI	SAP A. SEMIANNIALLY NEXT CALL DATE	= 06/01/2029 CONT CALL	1 06/01/2029 MAK	E WHOLE CALL CLISH	D: 254687FL5		
ш	11/15/29		108.0950 97,834,08B 1,451.4	97,285.50	95,834.08B	1,451.42	2,205.00	2.450
TO TOUR MODINS AT	D A+ SEMIANNI	SAB A+ SEMIANNIALLY NEXT CALL DAT	DATE 08/15/2029 CONT CALL 08/15/2029 MAKE WHOLE CALL CHSID: 458/140BH2	1 08(15/2029 MAN	P WHO I P CALL CLIS	D: 458140BH2		
INC NOTE CALL	06/03/30	100,000.000	101.2100	101,210.00	99,889,00 B	1,321.00	1,500.00	1.500
				112.50				
FIXED COUPON MOODYS A2 S&	P AA- SEMIANN	INALLY NEXT CALL DA	S&P AA- SEMIANNUALLY NEXT CALL DATE 03/03/2030 CONT CALL 03/03/2030 MAKE WHOLE CALL CUSIP: 023135BS4	LL 03/03/2030 MA	KE WHOLE CALL CUS	3IP: 023135BS4		
Total Corporate Bonds (21% of account holdings)	unt holdings)		\$1,5	\$1,986,262.20	\$1,926,816.61	\$59,445.59	\$50,740.82	

The Hastings Foundation FEIN 95-1642370 Federal Statement 7 Attachment Form 990-PF, Part II, Line 10c Investments - Corproate Bond - Fidelity

Holdings

Bonds (continued)			Q	Total Market Value	T	farileard		200
Description	Maturity	Quantity	Per Unit A	Per Unit Accrued Interest (AI)	Cost Basis	Gain/Loss	Income (EAI)	Rate
US Treasury/Agency Securities	ø							
M FEDERAL HOME LOAN BA SER 58-9020	08/05/20	100,000.000	\$100.1360	\$100,136.00 \$760.42	\$100,011.81 <sup>B</sup>	\$124.19	\$937.50	1.875%
FIXED COUPON MOODYS Aaa SEMIANNUALLY CUSIP: 3130AGUD5	MIANNUALLY C	USIP: 3130AGUD5						
MUNITED STATES TREAS SER	09/30/20	150,000.000	100.6380	150,957.00	150,369.50B	587.50	2,062.50	2.750
FIXED COUPON MOODYS Aaa SEMIANNIJALLY CUSIP: 9128285B2	MIANNUALLY C	USIP: 9128285B2		00000				
M FEDERAL HOME LOAN BANKS	04/06/28	90,000,000	100.0010	90,000.90 388 50	90'000'06	06:0	1,665.00	1.850
FIXED COUPON MOODYS Aga S&P AA+ SEMIANNUALLY NEXT CALL	&P AA+ SEMIAN		DATE 07/06/2020	DATE 07/06/2020 CONT CALL 07/06/2020 CUSIP: 3130AJG78	CUSIP: 3130AJG78			
M FEDERAL HOME LOAN BA SER	01/28/30		100.9230	100,923.00	100,072.20B	850.80	2,640.00	2.640
FV-2030				1,114.67				
FIXED COUPON MOODYS AAA S&P AA+ SEMIANNUALLY NEXT CALL	&P AA+ SEMIAN		DATE 01/28/202	DATE 01/28/2021 CONT CALL 01/28/2021 CUSIP: 3130AHVT7	I CUSIP: 3130AHVT7			
FEDERAL HOME LN MTG CORP MTN	06/28/30	100,000.000	99.9780	99,978.00 3.89	100,000.00B	-22.00	1,392.22	1,400
FIXED COUPON MOODYS Aaa SEMIANNUALLY NEXT CALL DATE 12/2	MIANNUALLY N	EXT CALL DATE 12/28	28/2020 CUSIP: 3134GV3B2					
FEDERAL HOME LOAN BANKS	05/04/32	85,000.000	100.0200	85,017.00	85,000.00B	17.00	1,530.00	1.800
BOND				238.00				
FIXED COUPON MOODYS Aaa S&P AA+ SEMIANNUALLY NEXT CALL	&P AA+ SEMIAN	. 1	DATE 05/04/202	DATE 05/04/2021 CONT CALL 05/04/2021 CUSIP; 3130AJJT7	I CUSIP: 3130AJJT7			
Total US Treasury/Agency Securities (7% of account holdings)	; (7% of account	holdings)		\$627,011.90	\$625,453.51	\$1,558.39	\$10,227.22	
Total Bonds (27% of account holdings)	(sgu			\$2,613,274.10	\$2,552,270.12	\$61,003.98	\$60,968.04	